Ratio to DO

dcygjet / drn3jet [pb/GeV]

1960 GeV ppbar Jets
T T | T I T I I I T | I I I T |: 4(2
| c
- 3-jet mass (DO p__ > 40 GeV, ly| < 2.4) aE
10* &= —==
— —_JLn
— —_IN
B e
B -
10° :—5 —:%
= 3=
[ 1
10° = =
— vy
— —™
®
B mE
10 = _E§
— —
— —.=
- = DO 1%
--3-- Herwig 7.2.0 default & =
= —a— Pythia 8.212 default e ==
~ -+ Sherpa 2.1.1 default " 38
] 5
107 & =
— | | | | | | | | | = E
:I | T T T T | T P T |:
2 —2
B a8 B
- Fotec ]
1 ,E’ .................. ¢ 1
R S i
oo _
0.5 —0.5
1 " | " 1 1 1 1 " | " 1 1 1 " |
500 1000 1500



	Contents
	Page 1


